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START 747 | Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 zoo | 657 | KA WE 3.5 7 b g — 4.0 8 WE ORMS 5.7 10 B & i 7.3 12
2 707 | 704 | P R & 4.2 8 =ZNl #£8 8.0 13 MNE FF 8.9 14 (1T]:- S 3 9.2 15
3 714 | 712 | ARHIFEE 5.1 9 £33 BE 9.6 15 = = 9.9 16
4 721 | 718 | B EBER 4.0 8 s EZz 4.5 9 mAK &M 5.7 10 =X #iA 10.0 16
5 | 728 | 725 | BB 51 45 9 82 W = 47 (=] IEZ 9.1 15 n 5 & 10.0 16
6 735 | 732 | BXK RE 6.5 11 B B 6.7 12 L o 10.0 16
BUSA TL—RI1IN FvrFa4{1TL— d—R EUB=FDE FEAHTRT(A)
START 747 | Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 zoo | es7 | H B W& 11.3 13 X Ei 4 13.9 16 A B8 13.9 16 o = 226 27
2 o7 | 704 | BR EH 11.2 13 L1 S B 13.1 15 in H R 13.7 16 E R 2 14.6 17
3 714 | 712 | & E BB 106 12 Ho 13.3 15 mK —A 13.7 16 mE X 16.2 19
ZF TL—RF14II ILITL— d—X FOE=F T|” #ERAFTCFT(R)
START | >«#7| Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 700 | 657 | B B & 9.9 15 e HFAK 10.2 15 E@ & 15.1 21
2 zo7 | 704 | WG FEF 7.5 12 BH LK 126 18 BrazOZE 148 20
3 714 | 711 | MMHERF 7.8 12 R W 5 10.8 16 BAXx T8 15.8 21

%AH., HDCPEHMAICKD7AI1BDI>FTYIREFAULTEDET,
XRIGEMHEES, HeEZEEIILEITNET,

HRESR

=3 BE




